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 � (  � ������ !�� �"#$��� ��%&'�� ��) ��*����+�� , -./ �0"�1 2�03 ���$#�	 4�%'� 5�6  

7(  *��%&'"� ��������� ��89���� ��:��;� �<��= >?�#� @�8"� A��0�� A�B��C�� ��BD �� 

 E(  *�&F���� G��H I) �J ���#�� K�� !�� ��"B��� ��C��#��� K)��� >)���� A�L� M�'� N&$��� ��  

  �(  ��� A�L� M�O ��C��F �� >P �"#$ Q ���RS� T�� ,  Q*��C�	 �#8$� ��������� ��89��� ���U�� ��R��� 4V�   

P  (  *�
.�"� W�#<	 �= �%&O ��89� :�'�3� I= G#U��� X� ��Y��Z �F [B\$�� �� 

  	(  
4#$��� A�L� M�O ]��#� �0"�1 W�^_ ������ ��:��;� ��  

��� ���  

 � (  �'= ]��F ��`��Y� ��Y	 ��� a��HS� 4&F I= ]��#�� bc��$� A��&�= A�&F X� A�d��� ��9� e:	�D �=� �P �f�

��$���  

��	
�  

1  GU"�� , a�d��� bg$�� ������ ��1�= G��H A�H h") W����B) �&8#���� ��:�Oi� A�j M�O ��C��F , .  

 �����1  

1 ���  

 A�L� M�'� ��#�#V� K�#�� @"�l �FQ� �m��� !��	  >"n� A�&#�C�� a	�\Q�J �&$��� �gB�F I) W�o&f W�<��.�  . p3q< �-�	
� ��C�	 �#8$� A�L� M���O ��������� ��89��� ���U�� ��C��F `��Y� G��H I) �g$= G#U��� I= ��.  

rs	 ��m��R;� ���8�= t= r$Y X� W�&$Y :�&�.�� bc��3 4�^�� �	�� ���c��$�� u-v ��<��9w�  tF�= ���� 4Y� I= b
W�2�03 �xfS� y�8�� h") bc��$�� t�	 
��C��#�� �P�'=zc��{� KC: ����9� |U&�� tD�= �#8$B"� .  

I= W���	 4B����� >c��P E�. ��8"< ]��#� M:	�D ���RS� T�� , }�$P 
��"�0�� A�L� M�O ]��F ) >c��v� �P	
`�
#�C�� tD�= �=��"� >Y2�B$�� ( K��#����������� ��89���.  
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�B\3� K���	  ��BF��� ��%&'��) 4x=GSM 	DCS1800 	UMTS 	� DAB 	� (DVB-T A�&#�C�� :�m/ u�� ��C��V�� 
�%�$�� . e:	�?�� I= ��%� ���V� u-P ,	 Q M:�O;� ����= ]��F X� �<�D;��  Q I= K�� !�� A�&#�C�� M��Y ]��F 

� , �8{� �&�3 A��= ]��F A�. ���&�(BER) ��\$�� `��� K��#� ���� 4Y� I= ��-f M�$#�� ��?&3 ���^�C� ]��F 	� .
���%) :�m/ ��� �	� ����=��	S� ��`��$�� A�B��C� G��H I) ��"�9'��� ��BF��� ��%&'�� h") ��C��#�� u-P `��Y� I%�	.  

�� �	[�= G��H A�H h") ]��#�� ����9� �B��= A�C:� ��Y	 I= .  

2 	�
��
�
�� ���� ��� ���� �  

��%�$�� ��:�O;� �mS W��\3 M��R ��&"#� G��8�� A�H h") A�L� M�O +�� . t= M�R�	 ]��F �^��3 G��8�� �� I%�	
 e�?{� `��%��	 �#8��	 KC���	 4&#���� >c��v :����� ��0�:��� ��-f �m��� >P	 
]�%�3�� ��
#�� 	� ��3��� �B�#��

� ���H:	W��H�. ��2 4�s �� �8�n� ���&�.  

 ��`��F I= o&f ��) I= W�F�83� �gd���C� I%B�� A�L� M�O :�&�.� bc��3 r�� �� I%� 
u�)� M:�f-�� 4=���"� W��\3	
W��c�
R� �g�w��= G��H I) ���	S� ���8���.  

3 ���� ��� ����  

 A�L� M�O �B�F r�� �� I%�Q8"< �<��= t=  >c��v� E�. ��) M��) �C�#�� �(dB(µV) o�= [P��	 >c��v� 4=�)	 
 >c��v� M:�O�Q������� ������� G��H I) :  

  e = vo + k + ac 

|�R:  
 e:   >c���g%�� A�L� M�O �
$)(dB(µV/m)) 

  vo:   >c��v� E�. ��8"<(dB(µV))  
  k:   >c��v� 4=�)(dB(m

–1
))  

  ac:  �v� M:�O� o�= [P�� >c�(dB).  

 I%�	 Q :�&�.�� ��&#��= T�� �����C� A�. I= Q 4%O h") M�O�&= A�L� M�O �^��3 M`��F (dB(µV/m))  ��2	
4&#���� M�f�2 , [
�"�� M:�O;� o�= [P��	 >c��v� 4=�) ����f A�. I=.  

4 ���	���� ����  

�P ]��#�� A�. :�&�.�� >c��v :����� ��0�:�� ��%�  1,5 X�3 :��=� . ��0�:� h") `�$� ���Y� �_� h") �^��$�� ����	3 
:��=�.  

5 ���
!"� ��

�# $�%  

1.5 "�	#��$� %	&#$�  

 ]��#�� 4&#��� >=�$���� 4�9'��� y�83 ��%� �� rsdB 60≤.  
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2.5 �'	�($ ��$��)*� +	,-$ .�	/$� %	&0 1��2 .3	42  

	 4&#���� y�83 ��) ��%� �� rs4�%'��� @�8� ��C�CS� `��YS� ��2 , �� 
M:�O;� A�&#�C� ���0%�� p�< �� W��C� .
�g"�%'� G�3	 M����� M:�O;� �c�
{ W�#<	 @O�%�� z6 z&?� �� rs	.  

�	
��� 

�� ���� ���� �
���� ��� 

(kHz) 

��
��� ����� 

����� ����	� 
��
� AM   9 �� 10 ��� ���� ���� 

����� ����	� ���� AM   2,4 ���� 

 �� ����� FM  170 �!"� ��   ���� ����)�#$%��&'	 �� (��� 

*��'%
+,- *,��� *.'� 200�!"� ��  ���� 

 �����GSM 300 

�����DAB   1 500 

�����DVB-T   
*#/��: 6 MHz 

 7 MHz  
 8 MHz 

 

6 000 

7 000 

8 000 

�����TETRA   30 

�����UMTS  3 840 

0���$	� 1�'$� �2. 

 '%���FM����	� 3�4   
���5	� ��6�7�: 12,5 kHz 

 20 kHz 

 25 kHz  

 

7,5 

12 

12 

 

 ���� ����)�#$%��&'	 �� (��� 

 ���� ����)�#$%��&'	 �� (��� 

 ���� ����)�#$%��&'	 �� (��� 

:GSM  *,5�$8� 9;�<-=	 �8��	� >�/�	� 

:DAB  *�#?� *��@ *6��� 

:DVB-T 6���A�B	 *�#?� *%'%��C * 

:TETRA �4�� �D�E� '%��� 

:UMTS  *,E�6 F#4 *G�� ��.'	'�H- I*�8��	� *,5�$8� 9;�<-;� >�/�IMT-2000  

6 &�'(�� &�()  
 M�=	 �0"���� �������� t= �R�	 �/ , �C�#�� M����� ��:�O;� ��)	 �Y��� A�8� �Bc�= �&f��� �)�C ��%� �� rs

� ]��#��:�&�.�� 4&#��� G�&8�"� �"��#�� �
FS� ��$=��:  

  

)s()MHz(

864
)km/h(

r
tf

V
×

≤  

 4x� |�Rtr �R�	 ���� �$���= :��%�� 4&#���� ��0d��= �g�") �$� !�� ��3��� ��$=��� M���.  

7 *+)�,� �-�.,�/ ���
,� 0�
�, 1�/(2,� 3�4,� 

 �$���� 5�#3 ��) :���Q >c�
R;� K��#��� ����9� ) bg$=(Lee* Q M�O , `>8&�� o�9��� ��"B) bc��3 �g�= ���� �#��8� 
 A�L�)�=S� 4��H �&. �m�( ��"n� ����0�� ���� 	� r��F I= bc��$�� u-P �%�� �� rs �Bf 
)��3��) ( o
F �&{� �m�
�=S� (A�L� M�O t�+���.  

____________________ 

*  J >��,%� ��D	�.L . M"������� �	
��	� 
����� ���
��� ��
���"I  N?�ISBN :0-471-57446-5 
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 �#m 4d�< h") A�
U"�	dB 1  4f �$) :�&�.�� 5�#3 ��$�) :��l �� rs 
��#�#V� h8C��� �B�#�� A�R0,8 λ)  A�H
�Y�= ( ��= h")40 >8C	 4d�< 50) IBD �C�#= �B�F 40�Y�= A�H .(  

8 5���� �6�7/ &�8�� &9:�; 

1.8 �5�*� ���6� 7	80  

 5���= ��?&3 X� �<��= A�� M�)��� y�83�� �8#3 I= �<���� :�#� , 
:�&�.�� �&f�= , }�U� ��<�= o� :�H� h")
�gY�"� �$�&�� ��=�"��� ��� 7�%C	ow� ��#� [R . �<����	 y�83�� �8#3 4�^�� �F� h") tF��� ���� �F� �B���	

:�&�.�� �&f�= �g�89� !��.  

2.8  �!�*� ���9)$ ��*	:$� �;80<�(GPS)  

 >8�� ��� ������� �B\3S�tF��� ���U�� ��:�^�  � �g$%�	 
:��=� ��?� ��� h") �� tF��� I) �#�F� ���8�= �g�03 >P
�������	 �#�?�� �:��'��	 y�03S� , G�F� 4%'� 4B�� . �B\3� �q< ��2 t=	GPS tF��� ���U�� 4?0�� bg$�� h#&� 

A�L� M�O ��C��#� �&�$���.  

 ��:����� �B\3S� K���	GPS�f �F�� ��<������: �8� 	� +�0"�� >)�2;� |&�� ��89� :�&�.� .  

:��=� M�) IBD tF��� ���� ��=�"�= , �F� ���?R �#8$= , ���{� e�9d >BF: ��\3 :�&�.� r"8��	.  

3.8 =>�*� ���*� 7	80  

u�)� I�:�f-�� [=�\$�� I= �0���� ��\$�� �-P 4%'� .� 4%'� u-P �R��� �B\3� ��#�	 e	�� 4.�� X� �Y�V� �	�	 Kc�
�8�C��� �8#$��	 �gY��� I) ��=�"�=	 I=���	 tF��� I) ���8�= 49'�� I=.  

9 �<
=�4#/ ���+4�� 5>  

��"��� ��	:-�� 	� ��8C��� K�#�� h") �=� ������� K��#���	 ]��#�� bP�$= A�. I= A�
V� I%�/ 	� >c�
R;� K��#��� 	� ��3���
	�� A�B�R�bc��$�� ����= +. 

1.9  �	�&:*� ?	60@ A2B C	�6$� D3	)0 �E)�	�� ��G$ ��$2<� �	�&:*�( 

 M�O�&= 4x� �� �^��$�� u-v I%� � p3q< ������	 
]�%�3��	 �&�"� �$��&��� :�m�� W��\3 
M�R�	 :�&�.� �^��3 M��)� I%� �
:�&�.� �8#$� A�L� M�O �B�F .� �w��= I%�	 7�"8�� 4%'��� ,�D� 4%'� ���	S� ���8��) [��#0�� �\3�1.2.9	 (2.2.9.  

2.9 �	�&:*� ?	60@ �� C	�6$� D3	)0 �E  

��c�
R;� �w���� A�. I= o&f �R X� �"^��� ���	S� ���8��� ��Bf ��#3q� bg$�� �-P �B�� .  
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1.2.9 ���!��� "�#��  

 :�&�.�� ��&#��= T�� :	�#= ,W�#&�= 4B����� �P��Z 4d��< ��= h") :�&�.�� bc��$� >".�� @�$
� `��Y� . I%�	
 `�P+ X� h
F� �Uf 4
� K��#� 4d��< :��� �� 4B���B"�10 000 h") �g$= 4d�< 4f e��Z �� h") 
�C�#= �$�) 100 

��� �Uf �B�F.  

� KF�"� ��8C��� �����V� K�#�� ��C r"
�� ��#�� , ��� �	 �8��{� , K�#�� u-P [&�	 
:�&�.�� bc��$� W�0"C ��n
��������� ��89�"� ��c�g$��.  

2.2.9 $��%&� '�
( *
+�,- .
#/� 01
���� ���23  

 [� �= ��C��#�� A�. bc��$�� @$
�1	 %99+	�^��� A�B�R� W�#<	  . A�L� M�O ����� �&�$��� ������ K�#�� u-P 4x�	
�� A�B�R��V� +	 . >P ��Y2�B$�� �gB�F	%1	 %10	 %50	 %90	 %99 . �8C���� �B�#�� 4?0�	%50 ��C�:�� 

:�'�3��.  

 y�H;� ��?&3 ��%� |�� 
@�$
��� K��#�� ��3�x�� I= `��YS� a�/ T�� r"8�� ��&#���� �� X� u�&�3�� e�V� I=	
") A�
V� K�� � ������	 
�"Bg= M��0�� u-P A�.M���Y ��C��F h.  

10 ���+4�� ?�
@ 

 +�gY 	� ����H 	� >Y:�. >
�O 7�C�V ��"= 7�F�= 	� b=�= 7�F�= A�B��C� A�. I= �$%� ������� ���xB��� ��%�
KC::  

1.10 �2��I J/� ��� ��$2<� �	�&:*� K�6�  

�����:  �&�"� ��"n� :�m�� I) �"
0= ��=�"�= >8�� .�$�� A�� �� I%�	 4g�� !�� bc��$�� I= ��3 e� X� bc�
��c�
R;� 	� ��D����� ���"B��� A�. I= �gD����C�.  

r����:  bc��$�� ����< :��%� I%� �	 
���8�B"� 5�0�� K^V�.  

2.10 	L&�&M ���'	/�B �	�
���@ J/� ��� 

� 4��#= ���:�%�� ���m��R� 4%O h") A�L� M�O ���8�� ���&�� ����� z8� �8C���� K�#�� u-v ��$�&= t= �<���
����n�.  

�����:   �^��$�� u-P �����C� I%�	 
A�L� M�'� �$��= �&�) ����= �	� tF����	 t�+��"� ����C �^��3 ��\$�� �-P >8��
���g��.  

r����:  ��C��#"� �#�F��� tD����	 bc��$�� [� �F�) �=�F� r�
�� I=.  

3.10 N3��O� P�'  

���� �w��B"� ��D�{� A�L� M�O ������= 4�x� 4Y� I= ����S� ����= z{� ) t= W�x=dB(µV/m) 10 ���B�R� 	� 
 ������ +	��) [� �=1	 (%99 G��8�� �8��. h").  

 �3�&�C��	 |U&�� tD�= ��������� M:�O;�� M�89�� �#8$�� K^R t= W�B^�$= :����� KC��� ]��#= ��%� �� rs	 ���"8��
�w��B"� ��D�{� A�L� M�O bc��$� . �=�#�� 4d��0�� 4B�'� �� I%�	Q �8��{� KC: ]��#� W��\3 Q ��0)�?= h") 
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��8C��� 4d��0�� . p3�f ��"�� z{� �	� ��"n� ���d�
{� KC: �g�= I%� �#��8� �=�#�� �^��$�� �3�&�C� :���.� >9&$�	
 �� h") ����S�� W�B�0=5�0=.  

 �3�&�C�� I= h")� �Y:�� ��8C��� 4d��0�� ��#�� �Y�V� �+�� �2�	)���9d ���. , bc��$�� 4�xB�f( �� ��\$�� tC�&< 

M�<���� �8��{� �	��.  

 ��C��#�� A�. �R�	 �/ , ���8�= ��"�"C �"^C �2�	)���&�� , �8{� �&�3	 A�L� M�'f ( �Bg"�x� 7�
���� IB<
� W��=�8��{� , �=�C��� y�8�� A�H h") [�+���= [3�"= [8.  

����� :  ��C��#"� �#�F��� ��#&��� :�&�.�� bc��3 z��� �� I%� . t�+���� I) �����C�� �"gC	 ����C bc��3 >8�� >P	
A�L� M�'� �$��= �&�) ����= I= ��� ����= X� A�d���	.  

r����:  4d�0�� �3�&�C� ��%� �� I%������ 4d�0�� I= �f� ��C���  .A�L� M�'� ��"n� �c�
{� u�� �� I%� �-�	.  

  

__________  
  


